Week 8, Day 2
Division as the opposite of multiplication

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. If possible, watch the PowerPoint presentation
with a teacher or another grown-up.

OR start by carefully reading through the e et e
Learning Reminders. R R

2. Tackle the questions on the Practice Sheet. —
There might be a choice of either Mild (easier)or |
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a ————
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to
. (a) 3.407
Check your understanding. 0 e
Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,0007

‘What number is one hundred times smaller than 0.4?
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Learning Reminders

Understand how to read an array; Use grouping to help write division number
sentences.

I have 3 packets of 6 buns.
Let’s draw an array to show 3
lots of 6 buns.

Now start with the number
18. Can you think of a word
problem that starts with 18

buns and involves grouping?

3x6=18
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Learning Reminders

Know that division is the inverse of multiplication; Create and solve division
problems.

I:‘ thber: Are 19 b:ns a.\Itogeth:r andf How many groups of 6 are there in 18?
s S SRS DT N0 Ay o We can use a beaded line to find out!

: ?
6, how many packets will he need Let’s draw jumps of 6 and see how

What are we going to have to do to many there are until we reach 18.

solve this problem?

+6 +6 +6
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18

/T’h—e:e: are 3 jumps, so there are
three 6sin 18.18 = 6 = 3.
So 3 packets will be needed.
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Practice Sheet Mild
Making division word problems

Write your own grouping word problem for the following arrays. Can you solve each one?
Record your answer as a grouping (division) fact.
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3222222 900000000000000000006000000000

222222 000000000000000000000000000000
o000 ° 10 20 30
000000

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @ V =H o

N

Challenge )

Pick one of the arrays and write a multiplication and a division word problem for the same array.

® V =m o
® VvV H o
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Practice Sheet Hot

Division word problems

Write your own grouping word problems for the following arrays. Can you solve each one?
Record your answer as a grouping (division) fact.
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00000000
00000060 0 10 20 30 40

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @ V =H o

000000000 |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
000000000
b 000000000 O 10 20 30 40 \_

Challenge )
Pick one of the arrays and write a multiplication and a division word problem for the same array.

® VvV 1m o
® VvV H o
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Practice Sheet Answers

For the arrays on all the Day 2 sheets children should have written a
corresponding grouping word problem.

® H A & «*

Making division word problems (Mild) Division word problems (Hot)

e.g.12+4=3 eg.24+4=6
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Challenge

Accept any multiplication and division word problems which have been written about
the same array.

® H A & x o
¢ H V @ ¥ &

A & x o 06 H A & x o
vV @€ ¥ &8 6 1 VvV @ ¥
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Investigation
Ring the fives

Work in pairs
Things you will need:
+ A pencil
What to do:

Draw rings round groups of 5 beads to work out the answers to these questions:

1. How many 5s are in 20?

NN W W W W N W NT AT NN R R R R RERTE RN OWOWWOWOW W OO OO W AT AR ART Y W VY WY WY WYY

0 10 20 30 40 50

2. How many 5s are in 25?

DAL ALY YO )OO ) ) ) M ) ) ) ) A ) A ) A ) A ) ) @) @) @ ) )@\ @)\ @ O ) ) ) A ) A A ) A A ) A ) A )

0 10 )5 30 40 50

S-t-r-e-t-c-h: Learning outcomes:

Write multiplications to go with some of your answers. + | can ring groups on a beaded line to find how many 5s are in a number.
+ | am beginning to see the link between multiplication and division.
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Investigation
Ring the fives

3. How many 5s are in 40?

W W WYYV IWIANAR A AEARERITERIERIEIT IR W VW W WYY ANIIY WYV VTV VYVVYVYYYWYYYN

0 10 20 30 40

3. How many 5s are in 50?

NN W W W W W W W NI AT AT AT R R RTRITARNTRW N OWWWOWOWOW NI OO O AT O AR AT W VYW WY W YW W WY

0 10 20 40

3. How many 5s are in 45?
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0 20 40




Investigation
Ring the fives

MDA LA A ALY YOO ) ) ) ) M ) ) ) A A A A ) A ) A ) ) ) M) A ) A\ @\ @)@ O ) ) A A ) A A ) A A A ) ) )

NN W W W W W W W NI A AR R AR R IW W WY VYW W WA AR Y BNV VYV TYVYWYWYYYYYN

10 20 30 40 50
0 20 30 40 50
0 20 30 40 50
0 20 30 40 50

NN W W W W W W NT AT NN NN R R RTEARTEARTRCW OO OWWOWOW W OO OO W AT AT AEARTEART Y WV WY WY W YW YW VYWY
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0 1
0 11
1I
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Check your understanding:
Questions

How many 5s are in 30?
How many 2s are in 16?
How many 3s are in 12?

I need 40 buns. They are 10 buns in each pack. How any packs do | need?
I need 20 apples. They come in packs of 5. How many packs do | need?
| need 15 peppers. They come in packs of 3. How many packs do | need?

Fill in the missing numbers.

ox10=50
204 =0
o+3=10

Fold here to hide answers:

Check your understanding:
Answers

How many 5s are in 30? 6
How many 2s are in 16? 8
How many 3s arein 12? 4

| need 40 buns. They are 10 buns in each pack. How any packs do | need? 4
| need 20 apples. They come in packs of 5. How many packs do | need? 4

I need 15 peppers. They come in packs of 3. How many packs do | need? 5

Fill in the missing numbers.

5x10=50
20+4=5
30+3=10
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